1H24H (&) #WMAEREESPS - A—T2RI0-)

A—=T 2RO —)VEEE - BESGAT—E (13:20~14:05)

952 it REE SEENGFR

1-1 (N= BF &K LT BE |BF:IUIUVF LF I HEE
1-2 = BF &K LT EE |BF:IIVUE LT HER
1-3 F st TOTATS5—=2200I—L4A
1-4 iy IRA {EF=2

1-5 He AN 1 —5¥=E

1-6 BEEE = 1 — 63=E

21 =Ry = Y= 1

2-2 BEEE Eay=] 2 - 2H=E

2-3 B =t B BEE

2—4 He HHEM 2 - AH=E

2-5 AT M - By 2 - 5¥=

2—6 B3RS AR 2— 6H=

3-1 ESES i (5) 3-1H=

3-2 He s (E) 3-2%=E

3-3 HEE N2 3-3%=E

3-4 e INEHR 3-4H=E

3-5 2R $ELT EF=1

3-6 B3RS = 3-6¥H=
U T

ZRL2 E5300] 5 AIE

[TE




